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E+3

x 1000

21
(kg/ )
9.3E+2 930.0 930.0
1.1E+3 1,070.0 95,070.0
2.0E+3| 3.8E+4 39,800.0 39,800.0
3.0E+1| 1.8E+3 1,829.5 1,829.5
5.0E-1| 3.8E+4 38,001.3 38,001.3
2.2E+1| A45E+3 4,552.5 4,552.5
2.9E+2 290.0 290.0
5.0E+1 50.0 55.0
5.8E+3 5,828.0 5,828.0
5.7E+4 57,000.0 57,003.7
8.1E+2 810.0 810.0
24E+1 244 25.2
4 5E+3 4,455.0 4,474.0
3.9E+1 39.0 39.0
13E+0| 3.8E+1 39.3 39.3
10E+3| 5.2E+3 6,259.3 6,259.3
2.2E+1 22.0 92.0
2.5E+0 2.5 2.5
2.1E+3 2,100.0 2,100.0
1.2E+5 120,000.0 120,350.0
1.0E+3 1,000.0 1,000.0
3.8E+4 37,600.0 37,676.0
3.1E+3] 3.2E+5 321,702.8 416,227.3




